: _m y =T o 5 r. - o :._, n
. tﬁ!ﬂ;l- :"i'l.ii;u'_ﬁm

B b

£ :ﬂ‘?.l;l,ﬂ.m 12,13, 14,15, 16, 17,18 & 19mm (14pes)

19, 12, 13, 14, 15, 16, 17, 18, 19, 20, 21, 22, 23, 24, 25,
268 & 27mm (1 Tpcs)

1/2" Dv. Extension Bar 125 & 280mm (2Zpca)
12" De. 16 & 20.6mm Spark Plug Socket |2pcs)
1/2" Dv. Reversible Ratchet i1pes)
1/4~ Hax Shank Slotted Screwdriver Bit:
3. 4,5, Bmm (Bpcs)
1/4” Hex Shank Philips Screwdriver Bit:
#0O, F1, #2 & #3 (Tpcal
1/4° Hax Shank Posidriv Screwdriver Bit:
0, #1, #2 & F3 |dpcs)
1/4~ Heax Shank Metric Hex Screwdriver Bit:
3. 4,5 8, 7 & Bmm (Bpcs)
1/4" Hex Shank Star Screvedriver:
Ti10, T15, T20, T25, T27, 30 & T40 (7pcs)
4" Hex Shank Robertson Screwdriver Bit
1, 812 & 83 (Mpcs)
1/4° Dr. Hax Bit Holder {1pes)
1/4° Dr. Insart Bit Holder [ 1pes)
1/4° Dr, Scrawdriver Handle {1pes)
1/4~ Hax Shank 1/4° Dr. Adapier [1pcs)
Matric Combination Wrench:
6.7.8,9 10 1.12, 13,14, 15, 16, 17, & 18mm (12pcs)
Matric L-Shaped Hex Wranch:
1,6 .2, 256 3, 4,5, 6 8 & 10mm|9pcs!
Plier:
6" Linegman. 8" Longnose & 6° Diagonal Cutting (3pes]
_Blow Case

iR 780049 CODE : 025500
EE 3 Sets/ 25.5 Kgs / 2.06 CUFT

e um‘ﬁiu&

R R R r

gl
#‘!.ﬁmﬂtﬂﬂnm £
3/18, 7/32. 1/4, 932, 516, mhmﬁwm
1/4- Dr. Extension Bar 2° 1pcs)
1i4" Dv. Folding Socket Driver [1pcs
38" Dr. Gp1. Metric Hand Socketi:
g, 10, 12, 13, 14, 15, 17 & 18mm Bpees)
A/8" Dr. SAE Hand Sockel:
nﬁrﬂﬂini 8, 7718, 1/2, 9NE, 58, e & 347 [Spcsl
38" Dr. Extension Bar 3 & §° (2pcs)
38" Dr. Adaprer 3/8°F x 1/4°M [1pes)
/8" Dr. Reversible Ratchet (1pcs)
1i4" Hex Shank Slotted Screwdriver Bit:

g0, #1, 22 & #3 (Tpcs)
1i4" Hes Shank Posidriv Scrawdriver Bit:
0, #1, #2 & 3 [dpcs)
1/4" Hex Shank Mstric Hex Screwdriver Bt
3. 4,5 6 7 & 8mm (Bpesl
1/4~ Hax Shank Star Screwdriver:
TI0. T16, T20, T25,.T27. T30 & T40 (Tpcs)
1/4" Hex Shank Robartson Screwdriver Bit:
#1, 72 & #3 (Mpcsd
1/4° Dr. Hex Bit Holder [1pes)
1/4° Dv. insart Bin Holder (1pcs)
1/4~ Dr. Screvedriver Handle [1pcs)
1/4- Hex Shank 1/4" Dr. Adapter |1pes)
Matric Combination Wrench:
10,12, 13,15, 17 & 18mm |Bpcst
SAF Combination Wranch:
/8, 718, 172, 316, 58 MG & 34" (Tpcsl
Matric L-Shaped Hex Wranch:
152,25 .3.4.56,854 1Wormmd Spcs)
Pliar:
6" Linesman, & Longnose & 6 Diagonal Cutting {3pcsl
Blow Case

1 5600g  CODE: 020500
EF 3 Sets/ 19 Kgs / 2.06 CUFT

'itlnuuuu




